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Classify the Triangle Qiopt A
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Classify Triangle PQR: P(4, 1), Q(2, 7), and R(8, 5)
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Given the points A(6, -1), B(-1, -1), C(-1, 4), and D(-6, 4)

a. Sketch quadrilateral 28€D on the coordinate grid below.
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b. What kind of quadrilateral is ABCD? Give the reasons for your answer.

Length of: Slope of:
AB =7 AB
BC = BC
CD CD

AD AD

Type of Quadrilateral:

“Trapezo:d

Reasons:
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The vertices of a quadrllateral are A(-2, 2), B(4, 6), C(6, 3)and D(0, -1), classify

the quadrilateral. AR = J(e e & o T\l
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Classify the quadrilateral.
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Classify the quadrilateral.
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Classify the quadrilateral as parallelogram, rectangle, rhombus, square,
trapezoid, or kite. Be as specific as possible.

P(-3, 6), Q(0, 9), R(3, 6), S(0, -10)
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Classify the quadrilateral as parallelogram, rectangle, rhombus, square,
trapezoid, or kite. Be as specific as possible.

M(5,2), A(1, 9), T(-3,2), H(1,-3)



Classify the quadrilateral as parallelogram, rectangle, rhombus, square,
trapezoid, or kite. Be as specific as possible.

B(3,5), O(8, 8), A(5,13), T(0,10)



